1) 	5.84 %  
2 )		9.59 %
3)   	Assume bond issued today so N = 18 years or 36 compounding periods
	1218.32
        4) 	781.67
        5) 	928.39
		862.01
  		6%
		1163.51
     	6)      	9%
    	7)	a)	2.00/40.00 +6% = 11%	
	b)	2.00/.12-.08 = $50.00	
8)		5%		8%		12%
	L	1296.95	1000.00	743.87
	S	1055.87	1000.00	932.39
9)	12%
10)	15.55
11)	1088.51
12)	If not stated always assume that the bond has a $100.00 face value (FV).
	D1 = is 100 X 10% = $10.00
	So: Pps = 10/.12 = 83.33


13)	 year		1		2		3		4		5
a) FV (rounded)	3.15		3.31		3.47		3.65		3.83
b) 		$12.41
c)		P0 = 24.71
d) 		12.41 + 24.71 = 37.12


